TOWN OF APPLE VALLEY

School Area Traffic Control Update

BID OPENING: FEBRUARY 24, 2022 @ 2:00 PM ANTICIPATED AWARD DATE: MARCH 8, 2022. ANTICIPATED START DATE: MARCH 21, 2022



Bid Results Company: Superior Pavement Markings, Inc. Bid Amount: **\$78,365.00** Apparent Low Bidder. No sub-contractors Company: Cat Tracking, Inc. Bid Amount: \$94,350.00 Company: WGI Enterprises, DBA PCI Bid Amount: \$104,760.00 Company: Chrisp Company Bid Amount: \$126,126.00 Company: Sterndahl Enterprises, Inc. Bid Amount: \$154,310.00

END BID RESULTS

SECTION 300 - BID FORM

NAME OF BIDDER: Superior Pavement Markings Inc.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

School Area Traffic Control Update

We hereby propose to furnish all labor, materials, equipment, tools, transportation, and services, and to discharge all duties and obligations necessary and required to perform and complete the Project in strict accordance with the Contract Documents for the following TOTAL BID PRICE:

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT.	EST. QTY.	UNIT PRICE	LINE ITEM COST
1	Remove Traffic Sign Complete	EA	41	\$60.00	\$2,460.00
2	Remove and Replace Traffic Sign Only	EA	31	\$250.00	\$7,750.00
3	Install New Traffic Sign Complete	EA	42	\$415.00	\$17,430.00
4	Remove Existing Complete and Install New Traffic Sign Complete	EA	31	\$465.00	\$14,415.00
5	Thermoplastic Pavement Markings Removal	LS	1	\$4,066.00	\$4,066.00
6	Thermoplastic Pavement Marking Installation	LS	1	\$32,244.00	\$32,244.00

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

BASE BID PRICE (BASED ON BID SCHEDULE):

SECTION 300 - BID FORM

NAME OF BIDDER: CAT TRACKING INC.

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

School Area Traffic Control Update

We hereby propose to furnish all labor, materials, equipment, tools, transportation, and services, and to discharge all duties and obligations necessary and required to perform and complete the Project in strict accordance with the Contract Documents for the following TOTAL BID PRICE:

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT.	EST. QTY.	UNIT PRICE	LINE ITEM COST	
1	Remove Traffic Sign Complete	EA	41	\$ 100.00	\$ 4,100.00	
2	Remove and Replace Traffic Sign Only	EA	31	\$ 175.00	\$ 5,425.00	
3	Install New Traffic Sign Complete	EA	42	\$ 375.00	\$ 15,750.00	
4	Remove Existing Complete and Install New Traffic Sign Complete	EA	31	\$ 475.00	\$ 14,725.00	
5	Thermoplastic Pavement Markings Removal	LS	1	\$ 6,850.00	\$ 6,850.00	
6	Thermoplastic Pavement Marking Installation	LS	1	\$47,500.00	\$ 47,500.00	

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

BASE BID PRICE (BASED ON BID SCHEDULE): 94.350.00

Base Bid Price in Numbers

Ninety Four Thousand Three Hundred Fifty Thousand Dollars

Base Bid Price in Written Form

In case of discrepancy between the written price and the numerical price, the written price shall prevail.

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. 991122, Expiration Date 03/31/22, class of license *** . If the bidder is a joint venture, each member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No. _____

Addenda No.

Addenda No.

A,B,C-8,C-12,C-31,C-32

SECTION 300 - BID FORM

NAME OF BIDDER: WGJ Enterprises Inc., dba PCI

The undersigned Bidder hereby declares that it has carefully examined the location of the proposed Work, and has read and examined the Contract Documents, including all plans, specifications, and all addenda, if any, for the following Project:

School Area Traffic Control Update

We hereby propose to furnish all labor, materials, equipment, tools, transportation, and services, and to discharge all duties and obligations necessary and required to perform and complete the Project in strict accordance with the Contract Documents for the following TOTAL BID PRICE:

BID SCHEDULE

NO.	ITEM DESCRIPTION	UNIT.	EST. QTY.	UNIT PRICE	LINE ITEM COST
1	Remove Traffic Sign Complete	EA	41	\$225	\$9,225
2	Remove and Replace Traffic Sign Only	EA	31	\$275	\$8,525
3	Install New Traffic Sign Complete	EA	42	\$425	\$17,850
4	Remove Existing Complete and Install New Traffic Sign Complete	EA	31	\$550	\$17,050
5	Thermoplastic Pavement Markings Removal	LS	1		\$7,500
6	Thermoplastic Pavement Marking Installation	LS	1		\$44,610

Bidders must provide pricing for every bid item.

The estimated quantities for unit price items are for purposes of comparing bids only and the Town makes no representation that the actual quantities of work performed will not vary from the estimates.

In case of discrepancy between the unit price and the line item cost set forth for a unit price item, the line item cost, calculated at the unit price multiplied by the estimated quantity, shall prevail and shall be utilized as the basis for determining the lowest responsive, responsible bidder. However, if the amount set forth as a unit price is ambiguous, unintelligible or uncertain for any cause, or is omitted, or is the same amount as the entry in the "Line Item Cost" column, then the amount set forth in the "Line Item Cost" column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price. If any of the above discrepancies exist, the Town may recalculate the bid price on the basis of the unit price and the bidder agrees to be bound by such recalculation. Final payment for unit price items shall be determined by the Town from measured quantities of work performed.

BASE BID PRICE (BASED ON BID SCHEDULE):

\$ \$104,760.00	
Base Bid Price in Numbers	

One Hundred Four Thousand, Seven Hundred Sixty Dollars and Zero Cents

Base Bid Price in Written Form

In case of discrepancy between the written price and the numerical price, the written price shall prevail.

The undersigned agrees that this Bid Form constitutes a firm offer to the Town which cannot be withdrawn for the number of Working Days from the bid opening stated in the Notice Inviting Bids from the bid opening, or until a Contract for the Work is fully executed by the Town and a third party, whichever is earlier.

The Contract Time shall commence on the date stated in the Town's Notice to Proceed or as stated above. In no case shall the Contractor commence construction prior to the date stated in the Town's Notice to Proceed, or before providing the required bonds and evidence of insurance.

Bidder certifies that it is licensed in accordance with the California law providing for the registration of Contractors, License No. $\frac{415490}{1}$, Expiration Date $\frac{7/31/202}{1}$ class of license $\frac{C-32}{1}$. If the bidder is a joint venture, each member of the joint venture must include the above information.

The undersigned acknowledges receipt, understanding and full consideration of the following addenda to the Contract Documents.

Addenda No.	N/A	_
Addenda No.		_
Addenda No.		